KBagpaTtyyn,

ai, by, cq, as, by, Co, ..., @y, by, ¢, 60ANT TOOHYY L 6reraes. OH3 gapaanan Hb xaBTran 493p
KOOPAWHATBIH TOHXNAr TAN Tanyyn Hb napannens 6ainx n kBagpaTeir gapaax bavanaap
TOAOPXONNHO: @;, bj — KBaApaTbiH TEBMIAH KOOPANHATYYA, C;— TanbiH ypT (i=1, ..., n). Byx
KBagpartaap 6ypxarnax oypcuiiH Tanbair on.

Input

OXHWIA MepPeHL N HaTypan Too erergeHe (n<1000). Japaaruiii n wnpxar Mep Tyc 6ypa Har
KBagpaTbiH Tyxai Ma433nan erergexse. i+1-p mepg a;, b;, ¢; 604uT TOOHYY 1 3aiiraap

TycraapnargaH 6aripnana (|a;|<1000, |b;|<1000, |¢j|<1000, i=1, 2, ..., n).

Output

YYCax LYPCWIAH HUIAT Tanbaiir TacnanbiH api rypBaH OPOHIMIAH HapyiiBYNanTanraap XaBnaHa.
Llypc Hb canaHrng opwux keagpartyynaac Tortox 60nHo. [1aspx 3ypruiir 60710H AOOPX XMW
OPONT rapanthir ya3.

Example

Input:
3

222

332

1010 1

Output:
8
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